
9

11

8

6

7 5

3

2

13

14

15

16

17

18

4

8

1

1

10

12

Shower Thermostat with diverter,
shower bar, handspray and rainshower 
chrome     A7331AA

 1	 Handle cpl. 	 A 861 556 AA	 1 Set
 2	 Stopring	 A 861 557 NU*	 1 pcs
 3	 Stop valve with diverter	 A 861 558 NU	 1 Set
 4	 Thermostatic Cartridge cpl.	 A 861 559 NU	 1 Set
 5	 Nipple G1/2 outside cpl.	 A 861 374 NU	 1 Set

 6	 Flange screw M5X8 DIN7380 	 A 861 560 NU 	 2 pcs
 7	 Thread pin M6 x 10 Din 4027	 A 962 857 NU	 1 pcs
 8	 Non-return valve (hot+cold)	 A 861 367 NU 	 1 Set
 9	 O - ring  Ø 28 x 3	 A 960 071 NU	 2 pcs
10	 Ring / strainer (screen )	 A 962 595 NU	 2 pcs

11	 S-Connector cpl.	 F 961 128 NU	 1 Set
12	 Connection nipple cpl.	 A 861 561 NU	 1 Set
13	 Shower bar 1100 mm	 A 861 377 AA	 1 pcs
	 Shower bar 1000 mm	 A 861 330 AA	 1 pcs
14	 Slider & holder f. handshr.	 B 961 024 AA	 1 Set

15	 Headshower Ø250 mm	 B 0384 MY	 1 pcs
16	 Wall fixation complete	 A 861 562 AA	 1 Set
17	 Handspray 3Func. Ø110	 B 2231 AA	 1 pcs
18	 Shower hose 1750 mm	 BE 175 AA	 1 pcs

	 *Universal set (not all parts needed)

		  Part-
Pos.	 Description	 Number	   Qty.

		  Part-
Pos.	 Description	 Number	   Qty.

Produced from:  Dec. 2024

A7331 ..

C-Therm S200

C-Therm S200

C
-T

he
rm

 S
20

0  



9

11

8

6

7 5

3

2

13

14

15

16

17

18

4

8

1

1

10

12

Shower Thermostat with diverter,
shower bar, handspray and rainshower 
chrome     A7331AA

 1	 Handle cpl. 	 A 861 556 AA	 1 Set
 2	 Stopring	 A 861 557 NU*	 1 pcs
 3	 Stop valve with diverter	 A 861 558 NU	 1 Set
 4	 Thermostatic Cartridge cpl.	 A 861 559 NU	 1 Set
 5	 Nipple G1/2 outside cpl.	 A 861 374 NU	 1 Set

 6	 Flange screw M5X8 DIN7380 	 A 861 560 NU 	 2 pcs
 7	 Thread pin M6 x 10 Din 4027	 A 962 857 NU	 1 pcs
 8	 Non-return valve (hot+cold)	 A 861 367 NU 	 1 Set
 9	 O - ring  Ø 28 x 3	 A 960 071 NU	 2 pcs
10	 Ring / strainer (screen )	 A 962 595 NU	 2 pcs

11	 S-Connector cpl.	 F 961 128 NU	 1 Set
12	 Connection nipple cpl.	 A 861 561 NU	 1 Set
13	 Shower bar 1100 mm	 A 861 377 AA	 1 pcs
	 Shower bar 1000 mm	 A 861 330 AA	 1 pcs
14	 Slider & holder f. handshr.	 B 961 024 AA	 1 Set

15	 Headshower Ø250 mm	 B 0384 MY	 1 pcs
16	 Wall fixation complete	 A 861 562 AA	 1 Set
17	 Handspray 3Func. Ø125	 B 1759 AA	 1 pcs
18	 Shower hose 1750 mm	 BE 175 AA	 1 pcs

	 *Universal set (not all parts needed)

		  Part-
Pos.	 Description	 Number	   Qty.

		  Part-
Pos.	 Description	 Number	   Qty.

Produced from:  July 2021 - Nov. 2024

A7331 ..

C-Therm S200

C-Therm S200

C
-T

he
rm

 S
20

0  


